
Back to Table of Content

KEY NO. POOLSPA CODES PART NO. DESCRIPTIONS PIECE (S) REQUIRED RETAIL PRICE 2025

1 21830510220 03016093 Ladders Left Hand-Side (AISI304) for SFF215 (Flange) 1 -                                  

1 21830510225 03016094 Ladders Left Hand-Side (AISI304) for SFF315 (Flange) 1 -                                  

1 21830510230 03016095 Ladders Left Hand-Side (AISI304) for SFF415 (Flange) 1 -                                  

1 21830510235 03016096 Ladders Left Hand-Side (AISI304) for SFF515 (Flange) 1 -                                  

1 21830510240 03016212 Ladders Left Hand-Side (AISI316) for SFF215 (Flange) 1 -                                  

1 21830510245 03016213 Ladders Left Hand-Side (AISI316) for SFF315 (Flange) 1 -                                  

1 21830510250 03016214 Ladders Left Hand-Side (AISI316) for SFF415 (Flange) 1 -                                  

1 21830510255 03016215 Ladders Left Hand-Side (AISI316) for SFF515 (Flange) 1 -                                  

2 21830510260 03016097 Ladders Right Hand-Side (AISI304) for SFF215 (Flange) 1 -                                  

2 21830510265 03016098 Ladders Right Hand-Side (AISI304) for SFF215 (Flange) 1 -                                  

2 21830510270 03016099 Ladders Right Hand-Side (AISI304) for SFF415 (Flange) 1 -                                  

2 21830510275 03016136 Ladders Right Hand-Side (AISI304) for SFF515 (Flange) 1 -                                  

2 21830510280 03016216 Ladders Right Hand-Side (AISI316) for SFF215 (Flange) 1 -                                  

2 21830510285 03016217 Ladders Right Hand-Side (AISI316) for SFF215 (Flange) 1 -                                  

2 21830510290 03016218 Ladders Right Hand-Side (AISI316) for SFF415 (Flange) 1 -                                  

2 21830510295 03016219 Ladders Right Hand-Side (AISI316) for SFF515 (Flange) 1 -                                  

3 21830510085 03016046 Cover 2 660.00                            

4 21830510090 89071801 M8*50 Screw with Washer & Nut for Flange 8 280.00                            

5* 21830510095 89070102 Ladders Stainless Steel Step (AISI304) * 2,420.00                        

5* 21830510100 89070105 Ladders Stainless Steel Step (AISI316) * 2,990.00                        

5* 21830510105 01051173 Ladders Plastic Step * 1,320.00                        

5* 21830510300 89070107 Ladders Stainless Steel Step (AISI316) with Anti-Slippery Pad * 3,290.00                        

5* 21830510110 89070108 Ladders Stainless Steel Step (AISI304) with Anti-Slippery Pad * 2,490.00                        

6 21830510115 02141006 Anti-Slippery Pad * 150.00                            

7 21830510120 112000069 M8*35 Screw with Washer for Step (AISI304) * 150.00                            

7 21830510125 112010126 M8*35 Screw with Washer for Step (AISI316) * -                                  

8 21830510130 89070104 Cap 2 280.00                            

9 21830510305 03016077 Ladders Left Hand-Side (AISI304) for SF215 1 -                                  

9 21830510310 03016078 Ladders Left Hand-Side (AISI304) for SF315 1 -                                  

SF SERIES LADDERS REPLACEMENT PARTS

Parts of SF Series Ladder Models: NSF & SFF



9 21830510315 03016079 Ladders Left Hand-Side (AISI304) for SF415 1 -                                  

9 21830510320 03016080 Ladders Left Hand-Side (AISI304) for SF515 1 -                                  

9 21830510325 03016180 Ladders Left Hand-Side (AISI316) for SF215 1 -                                  

9 21830510330 03016181 Ladders Left Hand-Side (AISI316) for SF315 1 -                                  

9 21830510335 03016182 Ladders Left Hand-Side (AISI316) for SF415 1 -                                  

9 21830510340 03016183 Ladders Left Hand-Side (AISI316) for SF515 1 -                                  

10 21830510345 03016081 Ladders Right Hand-Side (AISI304) for SF215 1 -                                  

10 21830510350 03016082 Ladders Right Hand-Side (AISI304) for SF315 1 -                                  

10 21830510355 03016083 Ladders Right Hand-Side (AISI304) for SF415 1 -                                  

10 21830510360 03016084 Ladders Right Hand-Side (AISI304) for SF515 1 -                                  

10 21830510365 03016184 Ladders Right Hand-Side (AISI316) for SF215 1 -                                  

10 21830510370 03016185 Ladders Right Hand-Side (AISI316) for SF315 1 -                                  

10 21830510375 03016186 Ladders Right Hand-Side (AISI316) for SF415 1 -                                  

10 21830510380 03016187 Ladders Right Hand-Side (AISI316) for SF515 1 -                                  

11 21830510215 89070101 Anchor Type Fittings (Concrete Pool) 2 770.00                            

Notes: NSF&SFF 215-S need 2pcs of Ladder Stainless Steel step and 4pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316) 

NSF&SFF 315-S need 3pcs of Ladder Stainless Steel step and 6pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316) 

NSF&SFF 415-S need 4pcs of Ladder Stainless Steel step and 8pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316) 

NSF&SFF 515-S need 5pcs of Ladder Stainless Steel step and 10pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316) 

NSF&SFF 215-SR need 2pcs of Ladder Stainless Steel Step with Anti-Slippery Pad and 4pcs of Anti-Slippery Pad and 4pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)

NSF&SFF 315-SR need 3pcs of Ladder Stainless Steel Step with Anti-Slippery Pad and 6pcs of Anti-Slippery Pad and 6pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)

NSF&SFF 415-SR need 4pcs of Ladder Stainless Steel Step with Anti-Slippery Pad and 8pcs of Anti-Slippery Pad and 8pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)

NSF&SFF 515-SR need 5pcs of Ladder Stainless Steel Step with Anti-Slippery Pad and 10pcs of Anti-Slippery Pad and 10pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)

NSF&SFF 215-P need 2pcs of Ladder Plastic Step and 4pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)   

NSF&SFF 315-P need 3pcs of Ladder Plastic Step and 6pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)   

NSF&SFF 415-P need 4pcs of Ladder Plastic Step and 8pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)   

NSF&SFF 515-P need 5pcs of Ladder Plastic Step and 10pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)   


